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Time : 3Hrs.

Full Marks   : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Two questions from Group B, each question 

carries 10  marks.

Answer all Two questions from Group C, each question 

carries 20  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Sem. IV - C

CE Drg & Drft

attached line plan and specification  No. 1.

With the help of specification No. 2 , Draw half 

foundation plan at mid level and half top plan of

slab in culvert .
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)Intermediate supports of a culvert are 

called .

(a) Abutments

(b) Piers

(c) Posts

(d) All of the above

is called

(a) Head

(b) Horn

(c) Style

(d) None of these

(i)

O4016

specification No. 1 . Draw the detailed plan on
suitable scale .

front elevation and half cross sectional elevation 
of slab culvert .

4.

OR()

20

P.T.O
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Road kern - size of road kern will be 75 mm x 150 mm
projecting from the parapet.
Road width = 4200 mm.
Earth slope for embankment =1:1 
Thickness of weathering coat = 40 mm. 
Total thickness of road crust = 150 mm.

O4016 3 15404

(iii)

(iii)

(iv)

(ii)

The lowest ends of Arch are called
(a) Crown
(b) Spandrils
(c) Introdose
(d) Extra dose

known as :
(a) Rise
(b) Tread
(c) Landing
(d) Flight

O4016
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(v)

(v)

(vi)

(iv)

Queen post trusses are used for span :

(a) 5 m to 8 m

(b) 3m to 5 m

(c) 9 m to 14 m

(d) None of these 

 ................... of the building .

(a) Plan

(b) Elevation

(c) Section

(d) All of the above.

O4016
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Specification No. 2
Clear span of slab culvert = 2000 mm;
Ht. of water way = 1500 mm free board =150 mm.;
Thickness of deck slab = 250 mm.

Abutment - Depth of foundation for 
abutment = 800mm below bed level. The abutment 
will be placed on cement concrete 1000 mm wide 
and 300 mm thick. 
Thickness of the abutment upto mid height = 800mm
and rest portion of abutment will be 700 mm thick.

Wing wall - wing wall will be return type.
Foundation details for the return wall will be the 
same as that of abutment, length of return wall will 
be 2000mm from outer face of the abutment. 

Curtain wall - Total depth of curtain wall including 
the thickness of concrete  course = 800 mm below 
bed level ; 
Thickness and width of concrete course=300mm each. 
Thickness of curtain wall = 200 mm. 

Flooring - 120 mm thick P.C.C flooring will be  
provided just below the bed level. At the two ends, 
flooring will be supported on footing made on 
curtain wall.  

Parapet - Ht. of parapet on both side = 600 mm 
above the wearing coat. 
Thickness of parapet = 450 mm. 
Coping 50 mm x 50 mm size will be provided on
outer side of the parapet.

O4016
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(vii)

(vii)

(vi)

Splayed wing wall is generally constructed

at angle .
0(a) 90
0

(b) 45
0(c) 60
0

(d) 12

(a) Roof Level

(b) Floor Level

(c) Sill Level

(d) Lintel Level

(viii)

O4016
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(ix)

(ix)

(viii)

(a)

 

(b)

 

(c)

 

(d)  None of these  
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Answer all Two Questions. 
20x2=40

Specification no. 1
Foundation - Depth of foundation = 1000 mm,
Thickness of cement concrete and width = 200 mm
and 800 mm. Two stepped footing are provided.

Plinth - Plinth height = 450 mm, 
Thickness of wall in plinth = 400 mm. 
25 mm thick D.P.C is provided.
Thickness of wall in superstructure = 300 mm., 
Ceiling height = 3300 mm .

Roof - 125 mm thick R.C.C slab ; 
100 mm thick line terracing over R.C.C roof slab . 

Parapet - 200 mm thick and 450 mm high, 
50 mm x 50 mm.
Coping in provided all around the roof,

Flooring - 30mm thick patent stone flooring
over 125 mm thick P.C.C over brick flat soling 
over sand filling. 

Lintel- 150 mm thick R.C.C Lintel ;
Sun shade - 450 mm projection. 
Missing data may be suitably assumed.

O4016

P.T.O



1415404

Draw the plan of a work shop building  6 m x20 m
size in  which truss have been shown at an interval
of 5 m thickness of wall is 400 mm . provide two
entrance gate and windows of suitable size . 
Assume all necessary data .

 x 

super structure and 400 mm thick in plinth . the
depth of spread foundation is 900 mm . Thickness
and  width of concrete in foundation is 200 mm
and 800 mm. Provide suitable footing .

OR( )

10

O4016
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(xi)

(xi)

A Small room adjacent to dinning room for
keeping cooked food is known as .
(a) Kitchen
(b) Pantry
(c) Store Room
(d) Common Room

protect the stab from weathering action is
called .
(a) Lime Terrace
(b) Coping
(c) Rammed Khoa
(d) All the above

(x)

O4016

(x)
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(xiii)

Square plan of a building is always preferred
since :
(a) It makes the house compact 
(b) It makes the house cooler in summer
      season
(c) It makes the house warmer in winter 
      season
(d) All of the above

The minimum height of mezzanine floor 
should be .................. .
(a) 2.2 m
(b) 2.7 m
(c) 3.3 m
(d) 3.6 m

(xii)

O4016

(xiii)

(xii)

1315404

and at support of a 250 mm x 400 mm R.C.C 
lintel , which has been provided over a 3000 mm
span .
Reinforcement - 6 nos 12 mm diameter bar , out of

these 6 nos rod , 3 nos bars are bent up at l/5 of 

span from either support . Two legged stirrups of 
8 mm diameter bars have been provided at an 
interval of 100 mm 2 nos Anchor bars of 10 mm 
diameter have also been provided at top:

l/

OR()
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............... than the top rail .
(a)  Larger
(b)  Smaller
(c)  Both (a) and (b)
(d)  None of these

(xx)

O4016

(xx)

Answer all Two Questions. 

2.

10x2 =20

10

Draw elevation of the battened , ledged and braced
door with the help of give date :
Size of door = 1200 x 2100 mm ; Thickness of
battens = 25 mm ; size of ledge = 150 mm x 25 mm
size of brace = 100 mm x 25 mm ; Door chowkhat
= 100 mm x 75 mm

9 15404

A roof sloping only in one direction is .......
........ . 
(a) Lean to roof
(b) Gable roof
(c) Hipped roof
(d) Valley roof

The horizontal wooden or steel members 
used to support common rafter of a roof are
(a) Purlins
(b) Battens 
(c) Strut
(d) Ridge Piece 

(xiv)

(xv)

(xv)

O4016

(xiv)
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(xvii)

(xvii)

called .
(a) Soffit
(b) Ceiling
(c) Landing
(d) None of these

The angular steps used to change the 
direction of flight is called .
(a) Winder
(b) Scotia
(c) Nosing
(d) None of these

(xvi)

O4016

(xvi)

1115404

(xix)

(xix)

The depression or recess mode inside the 
door to receive the shutter is known as. 

(b) Reveal
(c) Jamb
(d) None of these

The top most horizontal member of queen
post truss is known as:
(a)  Principal Rafter
(b)  Staining Beam
(c)  Queen Post
(d)  None of these

(xviii)

O4016

(xviii)
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